‘ro 10 MIE ZD 1

.
-
o 6NOFEL T TOEA (
\

5 (FEXK)

b

o
D
N

o 7y Fk—l2 13512 65 O-TVET,

ek

Seejese

6805 866 860
(88 560 866 86

6 X 1= ( )

6 X 2= ( )

6 X 3= ( )

6 X4 = ( )

888888088008 o~

635 MNL9T L FTTIA

6X 6= ( )
6 X 7= ( )
6X 8= ( )
6X 9= ( )

O6DEAIEMIT L EAH

IS\ - | XPARAE
https://futaba-workbook. com

2Dy, 27213 ( ) ¥ o525

ZZIE35K—3



F10E NUHE 201 /’L
> ® v ery
Oz T TDOEA m\yl/ AN

A B Aogly [

N

Y |

vl N

— '.II T I'|I I|

) 4 A

DAZTIE 13512 72595 O-T\WET,

55
g@;g@b 7 X1 = ( )
G G50 G50

G G585 G580 G5 Jxas ()
G G585 655 655 655 e

6L LT L T T

7 X Q= ( )

TOELEINT LN 258, 27213 ( ) §o52 5

fS\T': [XBAZEE EZ X3 5R—

https://futaba-workbook. com



